SCHOOL BASED ASSESSMENT 2024-25
First Term Science Grade 5

School Name:

www.schoolbasedassessment.pk www.schoolbasedassessment.pk
ANSWER KEYS
Q.No.l:c Q.No.2:a Q.No.3:a
Q.No4:a Q.No.5:a Q.No.6: ¢
Q.No.7:d Q.No.8:d Q.No9:b

Q.No.10:b  |www.schoolbasedassessment.pk

ANSWERS / RUBRICS

Question No: 11

a ) Why classification of organisms is important? (3 Marks)
(3”%6/}/()}[61&.?1)(){(_)5111@

Rubrics: Award three marks for the correct answer.
Model answer: Due to classification we can determine the

_J“;/:}ufd:..'«!}?u/;:u(/,u

similarities and differences among organisms. Due to the é/dfjgu“/'ﬂﬂc;J«“Vu&"/}Luyutg("'(‘_.?)d/dﬁ:.?/):?i}?gL/
structure and other characteristics of organisms, we can identify _wé/;;wﬂ,gj@d/u,(‘(_),Jguﬁfw,&vd@uub_w
and st.udy them. We can also know the relationship among -wéuw”fﬁ‘” L:J&”/Jéuuul?ﬂ
organisms.
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Which group does the honeybee belong to? Explain why it is placed in this group. (3 Marks)

(3)?ugiju;[uf.;,/wL'fq/wu,?+ﬁyL75fJfJﬁ

Rubrics: Award three marks for the correct answer. _J;/Uféviﬁy/;:_f/,u
Model answer: The body of the organism is segmented. The ‘/"chl?gr:ﬂ uﬁuf?uf/()’-‘é/bﬁf%@ul?:e'ﬁgL/

body is divided into three parts i.e. head, thorax, and abdomen.
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The number of legs is six. The external structure of the body is ¢

hard which means this organism has an exoskeleton. Based on 7’/4:%’&(‘5/%74&6/&?#7(&-%%“{’4g/’ﬂ?h{f’f
these characteristics, honeybee belongs to the insect group. _cguﬁ’fjdya

How monocot plant is different from the dicot plant? Write any two differences. (2+2=4 Marks) www.schoolbasedassessm ent.p K
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Rubrics: Award two marks for each correct difference.

Model answer: Monocot plant: 1. Seeds have one cotyledon. _Q:)/})LJ}M/}/Z:J/J/
2. In the leaves of the monocot plant, the veins parallel to each _‘Lmugdgvgu:u,;z_l;;,,;_»,gj,»;_‘,,ggg_/
Othir' ber of floral | o f l -u,?&nd)l}"L(_/;;ugﬁ;dﬁu%ic}gbwr_Z
3. The number of floral leaves in a flower of a monocot plant is S S S - ) .

three or multiple of three. 'u‘?dﬁdw’gu:ku: )’MJU‘:);%J’%LL}{'}VW’/?
Dicot plant: 1. Seeds have two cotyledons. ~UE L 8 LUE -1y L0
2. The leaves of dicot plants have veins in the form of a net. _ugdnu:fJthvgy':;utui;L;;g.%dﬁ-z
3. The number of floral leaves in a flower of the dicot plant is four -wéndw!%gkég»ﬁ@fsuﬁd%Lugd&u

or five or multiple.
Question No: 12
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a ) Write any two factors that help in pollination. (2 Marks)

(2)-ﬂ(t£J|fuf_(j//€),o uﬁfﬁffdg

Rubrics: Award one mark for each correct factor. -Q;/Vgl(ﬂmawuug/;:uﬁu
Model answer: Insects, air, bat, water etc. _D/,&u,‘j}ggcm‘gkﬂu,ﬁgg_/
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Rubrics: Award two marks for each correct function. -Q’/’/”LJJMJ’/":VQ’/

Model answer: The outer covering of the seed is called the seed ﬁ‘gt‘/’/ﬁil}?d/gjﬁ‘folL}?}’,-uj“'é&/,?/dw@;éé':?lﬁﬁ_/

coat. It protects the tiny embryo which is present inside the seed. Lu”_wg‘-f‘l)/t&_ét‘%éb}/v(’/&j/jfﬂ_at‘%}ﬁ,‘jj'LZ}}
. . . e K4 ¢ R 4 g co .
There is a pore on the seed coat. It is called micropyle. -‘at"m)’buﬁ@dgéu'

Write functions of seed coat and micropyle. (2+2=4 Marks)

Write the functions of the following parts of the flower. (4 Marks)
1. Sepals, 2. Stamen, 3. Carpel, 4. Filament

(4)-uf¢ It s S5 osur
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Rubric: Award one mark for each correct function. -u:;/:"..{! KJ’}M/)/[:J/,)/
Model answer: 2K
Parts of the flower &L J# Functions U
Sepals They protect the internal structures.
.-':-‘I-" _L,;?:—-':-""!;IH:;‘_:._"_",.,.'L'I_.-“-'-*'-I:
Stamen It is the male reproductive part.
Carpel It is the female reproductive part.
Filament It gives support to the anther.
--"'-".L; —;—L I | o
Question No: 13
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a ) Write any two causes of air pollution. (2 Marks)

(2)_ﬂayﬁﬁﬁ)dé:{d/fﬁﬂféw

Rubrics: Award one mark for each correct cause. J}/JK:}&//)/:J/:/
Model answer: Smoke emitting from vehicles and factories, % P . e o
2 U (U1l > /8y I6
burning of fossil fuel in kilns, fire in the forest are the main JQ WKJ’{J/;JU% JI# ’ééuﬂwgﬂ/ uf}’/,K K /igf:"/
causes of air pollution. -Uj@gﬁ’f""-w/”” QLeielE ST

Explain the effects of greenhouse gases on the environment. (4 Marks)
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Rubrics: Award one mark for each correct effect.

Model answer: Y Py

1. It results in the increase of temperature of the Earth. _‘at’njuluﬁa/ifg/;iuﬁ)uﬁéiul_l
. . . . . = Y

2. The climate of the Earth is changing due to global warming. _‘au‘undj,«?imgl Jdﬁjc;‘?’JV@J”J}K_z

3. Itis causing more rain and floods.

. , : el sl UF sl 23
4. The ice of the north and south poles is melting at faster rates. CF ’ "

_‘Ldzdﬁgcdﬁ'd/,d/ﬂ{f&}?u!dkﬁ_4

Write any two examples of biodegradable and non-biodegradable materials from daily life. (2+2=4 Marks)

(4=2+2)-L):)J£C"*u:ud(j/d/ﬂ}f&lifdff@ul:md?@/dﬁf@:;dﬁ’)o/bz

Rubrics: Award one mark for each correct example. -Q;/UQKJ@M/;VQ/;:J/.U
Modtelanswer: Biodegradable: Paper, fruits and vegetables, and -&}J’ZML%‘J{‘%E{:ﬂ}fﬁ'i/fdbﬂ!yiﬁgL/
meat. 3 7 & . v o s s L 2 e
Non-biodegradable: Plastic bottles, computer parts, polythene dl””"“'g'u“ﬁd‘i‘é%éf’ﬁ{‘d XJ.CLJ;.)‘./..’J?L,»,/@;QUL
bags, and metal cans. _U.‘.)/
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